
Installation Instructions 
Toyota Camry 

Toyota Camry Hybrid 

Lexus ES350 

Part Numbers: 

90152 

36416 

06397 

Hitch Shown In Proper Position Wiring Access Location:  PC3, PC4 

Equipment Required: 

Wrenches:  10mm, 12mm, 14mm, 17mm 

Drill Bits:  1/2” 

Hitch Requires 1/2” pin and clip. 

1. Remove spare tire from the inside of the trunk of the vehicle.

2. Lower vehicle exhaust by removing the rubber exhaust hangers.

3. Remove fascia rivets from the fascia tabs between the trunk pan of the vehicle and the rear fascia.  If present, remove the plastic under
covering located under the trunk pan.

4. Remove the existing bracket shown in Figure 2 from the driver’s side vehicle frame rail and the rear end panel and return to vehicle owner.

5. Raise hitch into position and install the M10 Hex bolts and the 3/8” conical toothed washers into the existing weldnuts in the vehicle. If no
weldnuts are present on the passenger side, then use the nuts and washers provided. ( m, q)

6. Using the hitch as a template, drill two holes through the trunk pan of the vehicle.

7. From the inside of the trunk, scrape the foam rubber material away from the inside surface of the trunk pan around the holes drilled in step
5.

8. Install the 1/2” hex bolts, blocks, lockwashers and nuts as shown above.

9. Reinstall the spare tire inside the trunk.

10. Reattach the rubber exhaust hangers, and insert the fascia rivets back into to the fascia tabs removed in step 3.

Tighten all 1/2-13 GR5 fasteners with torque wrench to 75 Lb.-Ft. (102 N*M) 

j Qty. (4) M10 X 40 X 1.25 CL8.8 Hex Bolt n Qty. (4) Block 1/4 X 1.50 X 3.00 

k Qty. (4) 3/8” Conical Toothed Washer o Qty. (2) 1/2” Lockwasher 

l Qty. (2) 1/2-13 X 2.00 GR 5 Hex Bolt p Qty. (2) 1/2” Hex Nut 

m Qty. (2) M10 X 1.25 Hex Nut q Qty. (2) 7/16 Washer 

Tighten all M10 CL8.8 fasteners with torque wrench to 42 Lb.-Ft. (57 N*M) 

Note: check hitch frequently, making sure all fasteners and ball are properly tightened.  If hitch is removed, plug all holes in trunk pan or other body panels to prevent 
entry of water and exhaust fumes.  A hitch or ball which has been damaged should be removed and replaced.  Observe safety precautions when working beneath a 
vehicle and wear eye protection.  Do not cut access or attachment holes with a torch. 

This product complies with safety specifications and requirements for connecting devices and towing systems of the state of New York, V.E.S.C. Regulation V-5 and 
SAE J684. 

Do Not Exceed Lower of Towing Vehicle 

Manufacturer’s Rating or 

 
Drawbar must be used in the 

Rise position only. 

Drawbar Kit: 

36071 

 

Fastener Kit: 36416F 

 3500 lb, 1589 kg  Max Gross Trailer Weight 

     300 lb, 136 kg  Max Tongue Weight 

Fascia 

Figure 2 

Bracket Removed in 

installation step 4. 

Trunk Pan 

Existing 

Weldnuts 

Rear End Panel 

Frame Rail 

Fastener and 

bracket 

location see 

Figure 2. 

     Toyota Camry Hybrid: 

Remove plastic fascia covering the Driver’s side 

frame rail of the vehicle. Return plastic fascia 

covering and screws to vehicle owner. Newer 

model Hybrids will also require removing of 

plastic fin attached to bottom of trunk pan on 

Passenger’s side. 

36314 U-HAUL

lnop 

mq 

jk

jk

(Sold separately) 

Find more Reese Towpower products on our website.                       Accept no compromises, choose only quality trailer hitches and towing.

https://www.carid.com/reese-towpower/
https://www.carid.com/trailer-hitches.html



